

2004 OHIO FORESTRY CDE EXAM

Saturday October 4, 2003- Hocking Technical College

PART I- GENERAL KNOWLEDGE EXAM- 40 multiple choice questions.

Record answer on provided bubble sheet supplied by committee.

1. Roots do not perform the function of____
a) support b) manufacturing plant food
c) absorbing moisture d) absorbing plant nutrients
2. _____ gives support and strength to the tree.
a) outer bark b) sapwood
c) heartwood d) cambium layer
3. Which are not deciduous trees ?
a) oaks b) firs
c) ashes d) willows
4. Identification of trees according to species is called _____.
a) forestry b) silvics
c) ecology d) dendrology
5. A tree sprout arising from the root or stump is called _____.
a) slash b) bole
c) sucker d) sappler
6. Which has the characteristic of being the most shade tolerant ?
a) hackberry b) pin oak
c) honey locust d) white ash
7. Which has the greatest resistance to drought ?
a) white ash b) green ash
c) basswood (linden) d) sugar maple
8. Which evergreen has a pendulous appearance when mature ?
a) white fir b) blue spruce
c) scotch pine d) Norway spruce
9. _____ and _____ may most easily be planted as cuttings from a parent tree.
a) maples and oaks b) walnuts and elms
c) poplars and willows d) pines and spruces
10. Mulching newly planted trees will help survival rates and growth rates by _____.
a) conserving moisture b) reducing erosion
c) cooling the soil in summer d) A- B- and C
11. The haga altimeter will measure _____.
a) tree height b) DBH
c) basal area d) board feet
12. The tool used to measure land area is _____.
a) chaining tape b) diameter tape
c) calipers d) clinometer

41. Southeastern Ohio Lumber is willing to pay top dollar for prime walnut delivered. Using the SPRING 2003 MEDIAN price supplied, what would be the gross amount of the check received for 9,000 board feet of prime walnut lumber sawlogs ?
- a) \$ 8,415 b) \$ 8,550 c) \$ 10,800 d) \$ 11,133 e) no correct choice listed
42. Central Ohio Lumber will be paying top dollar for No.1 common white oak sawlogs. Using the SPRING 2003 MEAN price supplied, how much income will be received for the 200,000 board foot of white oak sawlogs using No. 1 common data supplied ?
- a) \$96,000 b) \$ 86,800 c) \$ 85,000 d) \$ 80,000 e) no right answer listed
43. Southwestern Ohio Lumber has agreed to pay the 2003 SPRING MEDIAN price listed in the July 14, 2003 reference supplied for No.2 cherry sawlogs. Dr Tressel has a 12 acre woods that yielded 150,000 total board feet of cherry sawlogs for the entire plot of ground in Youngstown. How much is the gross check form the 12 acre woodlot ?
- a) \$ 63,750 b) \$ 66,000 c) \$ 71,250 d) \$ 75,000 e) no right answer listed
44. Northwestern Ohio Lumber has purchased a contract for a speciality project using only prime hickory sawlogs. Using the SPRING 2003 MEDIAN price for prime hickory sawlogs, how much would the company pay for 450,000 board feet of lumber to honor the contract ?
- a) \$ 101,250 b) \$ 103,500 c) \$ 146,250 d) \$ 164,700 e) sorry, no correct choice listed
45. Northeastern Ohio Lumber is close to the lake and wants to purchase basswood sawlogs for a special community service project in Cleveland, Ohio. A special USDA grant has been received for purchase of blocking grade basswood sawlogs. What will it cost the Northeastern Ohio Lumber Company to purchase 500,000 board feet of blocking grade basswood lumber using the SPRING 2003 MEAN price supplied by the Division of Forestry on July 14, 2003 ?
- a) \$ 79,000 b) \$ 84,500 c) \$ 112,500 d) \$ 154,000 e) can't seem to find right answer

1. B
2. C
3. B
4. D
5. C
6. D
7. B
8. D
9. C
10. D
11. A
12. A
13. D
14. B
15. D
16. C
17. D
18. B
19. D
20. B
21. B
22. B
23. B
24. C
25. B
26. B
27. D
28. A
29. B
30. D
31. D
32. B
33. D
34. C
35. D
36. C
37. B
38. C
39. B
40. A
41. C- \$10,800 (9 X \$1200)
42. B- \$ 86,800 (200 X \$434)
43. D- \$ 75,000 (150 X \$500)
44. C- \$ 146,250 (450 X \$325)
45. A- \$ 79,000 (500 X \$158)

#41- #45 reference- Ohio Timber Price ReportJuly 14, 2003- Division of Forestry

